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Answer either in English or in Assamese

1. Answer the following questions as directed :

=% 1x10=10
e S oo eppTyEs T o
(a) . What is reservation price? '
e W WA [ 3 2

(bp) What do you mean by product
differentiation?

7 Reshe 3 B @
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(2)

(c) Name the first economist who attempted
to provide a systematic definition of
perfect competition.

e Wt e o e
WA R SS T SRR ?

(d) If price < the minimum AVC, what will
the firm do?

R ww < A T ARETNE [/ W, 9
AfSHIA ¢ €92

(e) The demand function of a monopolist is
Q=1/5(5-P. If P=50, what is price
elasticity of demand?

PECERC i B e B EC
Q=1/565-P. I ™ P=50 W, 6N
Ffgrome R 277

() Fillin the blank :
AR §R 7T 40 :

MRPL =MPPL B el

ey WHe AfRE Seoqraee = =S
TS AT TesAm=alaer x |

(g9 What is insurable i‘isk?
SRANFS Hee M 2
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(3)

(h) What do you mean by Pareto’s
optimality? -

(PICACO A ) raenl e &6 J@n 7
(i) What is project evaluation?
| o e N R

) Who advocated the interpersonal
comparison of utility concept?

e e ToAIOR GIAEAS YIRETBT (A
SRR ?
2. Answer the following questions . 2x5=10
TR PP T ford

(a) Write the differences between selling cost
and production cost.

-ﬁ@mwmomwm 4l
MLEPIZ o |

(b) Differentiate between personal distri-
bution and functional distribution.

s Red wie f@mmEe 0 Ided Rear
WWWW|

c) State the main Ilrmtatlons of Pareto’s
criteria for welfare economics.

(AR T WA MRACOR o1 Sy
TEe 390
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(4)

({d) Write the two conditions of equilibrium
in a perfectly competitive industry.
o ST ITES b SEFIR ST TS 0l
fora |

(e) Distinguish between rent and quasi-rent.

& HF TpI- I - TS 4T
of1efey fern |

3. Answer any four of the following questions :
' S5x4=20
ol 2Ty R e vifihr e fod

fa() Why a monopolist does not have a
unique supply curve?

'awmmﬁwﬁﬁ%awmmm
AT 2

(b) Distinguish between perceivedl and
proportionate demand curve.
e oftn @1 e Sefes Flﬁ‘ﬂ @[
TrerS 23T A% (bR 4 |

(c) “Profit is the reward of the entrepreneur
for bearing uncertainty.” Explain the
statement. -

o[ %[ 1" i1 w40 |
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(5)

(d) What is payback period method of
project evaluation? Write the limitations
of payback period method.

o TR A1) CRRIE  c@e Wied 2
A1) TRRPE Tafeq Sz & |

(e/) What is price discrimination? Is price
discrimination socially justiﬁed? Give
reasons.

W Reenieed ﬁ”?{ﬂmW\m?
e fra 1

() “Rent can arise only if the supply of
a factor is less than perfectly elastic.”
Explain.

“aft @1 SomR @ ey Rfomieeeite
I W, cofernz IEER R I @ 17 mAm
T4

4. Answer the following questions :

o[ 2T Ted o

(a) Explain under what conditions can a
monopolist discriminate between different
buyers in fixing the prices of his product. 10
& & wagR e[ e fidy TR 9w gzesion
IO [feq @For THe (©d Tedfie
AR 7 ¥ 0 AR 40
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(6)

Or/ 93

Why are monopoly price and profit
higher but output is lower than in perfect
competition? Discuss. 10
GFTEA TS TR T W 7S 4 e
TREE T W e TemeR o &
W ? e 91 |

(b) Explain the nature of supply curves ofan

industry under increasing and decreasing
cost conditions. ' 10

T wre Rl @ SwES GO SR
L e @R oS a4
' Or / |l

Determine the equilibrium condition of
a firm under monopolistic competition
in the long run. 10

G e I NEEe 93|
(ST ST SRE! AT 40 |

(c) Critically discuss the marginal *
productivity theory of distribution. 10

R 2R TeAmeTel SER SRICTIEF
A SR |

Or / A1

State and explain the Ricardian theory of
rent. What are its drawbacks? - 10

RPT6T a1 ©geE! B ST AR 90 | N
Kramermz & 2
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(7)

(d) Discuss in brief the contributions of
Kaldor and Hicks to the field of welfare

economics. 5+5=10
T SRS (Fge FECER WE RS
SR ST AT 47 |

- Or / 941

The expected life of a project Xis S years
and it earns profit ‘¥10,000 after
deducting depreciation, taxes and
interest. Another project Y earns profit of
¥ 18,000 in its expected life of 6 years
after deducting depreciation, taxes and
interest.

The net investment on the two projects
X and Y are 25,000 and ¥36,000
respectively. If the required rate of return
is 12-5%, which of the two projects will
be selected? 10
9Bl 2FF X gonfie §AeE S5 I WE X
R AT @I S, T I [© Fod (RS
7S ¥ 10,000 BFT 1 WE 4B oFW YT
G 6 I WF X A QAN [I S,
I F IO IO = #S I 18,000 5 |

X % Y 7 oFwd I et Rt s
¥ FAEAE 25,000 591 WF 36,000 T |
M GG oRER AR FONfre AfeTe TS
12-5 eI T, (o1 #Fw fdifve s 232

L& & ¢
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